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BUSINESS STUDIES

(Questions-Answers)

A Highly Simulated Practice Question Paper for
CBSE Class XII anmination
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eral Instructions

_wer to questions carrving 1 mark may be from one word to one sentence.
o wer to questions carrying 3 marks may have about 50 to 75 words.
Apswer 10 .

wr o0 questions carrving 4 marks may have about 150 words.
i <wer t0 questions carrying 6 marks may have about 200 words.
':::e“f:?’. all the parts of a question together.

SECTION A : Objective Type Questions (1 Mark)

Which of the following highlight the nature of management principles?

5} Flexible - (b) Universally applicable
Zf,'l Contingent (d) All of these
..... function of management is considered as the base for all other functions.
(a) Organising ’ (b) Stafﬁng.
(c) Planning (d) Controlling

"meand-for reservation in jobs for minorities refer to an example of key component of general

environment of business.” Name this component.

:a) gocial environment (b) Legal environment

' l ' .

(c) Polifieal environiment (d) Economic environment
C

_ The optimum ratio for an organisation to work effectively and efficiently will be

complete decentralisation
(:)) Lom@lete centralisation
)
(( ) both mdel)( ndent in the sdame ()l(]ﬂnjgdtion

(d) mlxof (‘("”“’dl]%d 10N dand (lp( P“‘“”'S(ltl()n
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4 production manager in a mobile manufacturing company, he
M producing 300 mobiles i a month. But, he alone A
1 N -

volved in producing mobiles Thus, in order to meet {1
authority

2}
€ largets,

Uneq
all the y, 3
h(’ Sh()uld © task

(@} delegate (b) decentrahise {c) nise

td) leave
lilm on social issues. For this,

=y art)
, film and inspires them to perform better. In this . msts.“ho
hich function of management? -a5€, diregy

(@) Controlling (b) Coordinating

6. A film director is about to start a he _
how they should act in the € guides the
has preformed w or
(¢) Directing (d) Organising m
7. Which techmque of scientific mang
person can perform the standard tas
(@) Motion study technique

(c) Fatigue study technique

gt
gement has an objective to find out gy, e P
kK without any adverse effects? g 4

(b) Differential piece wage system
(d) Work study technique

communication network 1S bei

(@) Inverted V (b) Free flow

9. Mr. Amit has some Securities whi is fri
) which he has purchased from stock market. His frj
him the proof of own P *0d asky

ership of his securities. What kind of roof, Mr. Amit wj .
show to his friend? P > P il have N

(c) Single chain (d) Wheel

(@) Warrant (b) Agreement (c) Share certificate (d) Deed

10. Mishikesh Lid is a MNC which produces printers. Currently, company is under huge
losses Que to the failure of its much hyped product in the market. R & D department ang
marketing department are blaming each other for this f

arke ailure. In your Opinion
Mishikesh Ltd is lacking which quality of management?
(@) Coordination  (b) Directing (c) Planning (d) Controlling

11. Management principles establish ......... between two variables. It indicates the
consequences of implementing a particular principle over a given situation.

(@) mainly behavioural (b) cause and effect relationship
(c) universal applicability (d) contingent

Or Management of an organisation strives to achieve profit and growth. It is associated
with which objective of management?
(a) Organisational objective (b) Personal objective
(c) Social objective (d) None of these

12. Match the Column I with appropriate options in Column II.

Column|| } Column Il
A  Prepaid expenses , () Fixed asset
B  Outstanding expenses | (i) Current asset

C Loy | (i) Current liability B
Codes
A B C A B C
(a) (i) (i) (i) (b) (i) (iii) (i)

(c) (iii) (i) (1) (d) @) (1) (i)
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Camnt, an exisiing shareholder of a company | . ' )

y , any is oflered the »

‘ yportion to the number of share At : ! '.vl:" right to buy new
prope ( ot of shares he already possess. This kind of issue
@ 1POs (b} tights fssue
() private placement () offer through sale

sharey in
is krmwn a8

wad 1he following text and answer question no. 13-16 on the basis of the same

.-:1‘:\1 Bikes' is 0 the business of manufacturing tricycle for toddlers. They had signific
.‘,iaI‘?*“‘ share, The business was becoming and they were increasing snlés volumgl (i‘(‘)'fv‘/:
\\ year. The top ““'f‘\t‘gli“\\l‘lll of company set a 15% growth ('luri»nq current year,z, d
" iple favourable indicators. However, two compelitors enterad the market a::g

::;:upﬂ‘d the same due to which "Tulsi Bikes' could only achieve 8% growth

_ombat this situation, the management came up with a list of different features and
_:.::cu‘-‘ that they can incorporate with the product. After careful analysis of ve;rious
gernatives, they selected the best feature and policy. When planning the new product
M*;e\' slso detected few inefficiencies in the whole process and took corrective measures t(;
q‘ with them.

13 which feature of planning is highlighted by the line, “To combat this situation, the
management came up with a list of different features and policies that they can
incorporate with the product. After careful analysis of various alternatives, they selected
the best feature and policy"?

() Primary function (b) Continuous

(c) Involves decision-making (d) Mental exercise

14. Which importance of planning is highlighted by the line, “When planning the new
product, they also detected few inefficiencies in the whole process and took corrective
measures to deal with them"?

(@) Provides direction (b) Reduces wasteful activities

(c) Reduces risk of uncertainty (d) Promote innovative ideas

© 5. Which limitation of planning is highlighted by the line, “However, two competitors
entered the market and disrupted the same due to which ‘Tulsi Bikes' could only achieve

8% growth"? _
(@) Leads to rigidity _ (b) May not work in dynamic environment
(c) Reduces creativity (d) Time consuming process

: 16. Which step of planning is highlighted by the line, “The top management of company set
a 15% growth during current year to due multiple favourable indicators"?

(a) Setting objectives (b) Developing premises
(©) Evaluating alternative courses (d) Follow-up action

read the following text and answer question no. 17-20 on the basis of the same.

JPA school is one of the best schools of Delhi NCR region. Recently, the management of
school decided to promote some of g09d performing teachers to the head of departments as
<ome of those HoDs recently left the job anq were recruited by the adjoining school, GPA
s-hool Wh?lch has recently started its operations.

G:pA school also checked the data for people who applied for job two months back but
couldn't make it. They also approached a government agency which serves as a link
: ceekers and job providers, For the unskilled work at school, the management

hetween job the vacancy in front of

tice about y in front of the school gate and some people applied seein
put th'[ehr;c;.e all methods helped GPA school to recruit, R ’
that. :
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7. Which SO
(@) Interna

(€) Both (@) and (1)

18. Which method

© of recruitment was ysed by GPA school?
(b) External 25
(d) None of these

IS ‘\l( }\ i 1 i e
which serves o l'-’ lighted m.llw line, "They also approached a government agen,.
@) Man § s a link between job seekers and job providers"? o
agement consultants (h) ['Implnymonl exchange

(¢) Transt
er (d) Casual callers

19. Which is hiqhli
managel::iyt:tod is hlghhghted in the lines, "For the unskilled work at school, the
peopls apolt c;l)ut the notice about the vacancy in front of the school gate and SOme
pplied seeing that. These all methods helped GPA school to recruit”?

(@) Labour contractors (b) Casual callers

(c) Employment exchange (d) None of these (
20. Which method of recruitment was used by JPA school?

(a) Transfer (b) Promotion

(c) Both (a) and (b) (d) None of these

SECTION B : Short Answer Type | Questions (3 Marks)

21. "Planning is not the remedy of all the deficiencies of the business.” In the light of thi;
statement, discuss any three external limitations of planning. .

22. Naveen, a post graduate in Economics, was successfully running his family business,
However, since last few months, his business is not performing well. Because of 1oy
pe_rformance and losses in his business, Naveen thought of taking employment and got
a job of human resource manager in a company on the basis of his experience ang
efficiency.

(i) Do you think his appointment is yalid? Give reason.
(ii) Was it not necessary for him to be a part of professional association to attain the post?
Give reason.

Or Bugs enterprise is an MNC which is engaged in the business of manufacturing
Christmas and New Year greeting cards. When the company entered into business in
India, it started producing Indian festive greeting cards also like Diwali, Holi greeting
cards, etc. Which component of environment has induced the company to diversify its
range of greeting cards? Also, explain the component.

23. You are the financial manager of a newly established company. The directors have asked
you to determine the amount of working capital requirement for the company. Explain
any two factors that you will consider while determining the working capital

requirement of the company.
Or
“To promote orderly and healthy growth of securities market and protection of investors,
SEBI was set up.” In the light of this statement, mention the objectives of SEBI.
24. What do you understand by 'right to choose' and 'right to consumer education’ as per
Consumer Protection Act, 1986?
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| It was . .
§ ‘"\.m\nn\t‘l\i and with the entry of MN(".‘ ‘:t:,",'::,:‘,‘k' I‘va;lw but with changs
o el share

( 3 e

Ceituation, CEO stay

het SHUS Starts delogating few of his authority 1
with the

w0 busine

N 3 ..s
Is declining. To cope up with
- | y the Gieneral Manaqger, whe
approval of CEO, dispe e ¢

| O, disperses some
anisation, v

o tolt himsell overburdened an
‘Nm.n'\ly to various levely throughout the org

ity and explain the cone
den ) is "‘I @ he con ept of management discussed above Al .
o importance of the concept so identifiod h ove. Also, mention any

adership 18 consider :
) "““\“ml .; Do you d\(h\:ml very essential component in making any organisati
’ R hD ' i Y I8 8 : | .
s aree with this statement? Mention any four reasons in suppe r;m;
) ! nm o

cour answer
Adi Compounds . .
yn .\d\\ i~ (}‘m w ‘Itvg.. Ltd, there is no restriction on flow of communication and each
and every employee is {ree to approach any one for minor queries and prot lem
e )lems.

slthough, this flow of communication is fast, but it has lec
! , 5 last, - has le akaae of confi :
ipformation. as led to leakage of confidential

0 ldentify and explain the network of formal communication being used by the company.

Al Mention a suitable network, that can be used by the company to protect the confidential
information.

. State any four methods of floating new issues in the primary market.

|dentify the principles of management violated in the following cases
(i) Arun, a supervisor, speaks to people at all levels, including his as well as other
departments.

(i) Akarsh, a production manager, expects his subordinates to work for personal satisfaction
and contentment, without any monetary reward.

(i) Aman and Ayush, having same qualification, work as marketing professionals. Aman
gets a salary of ¥ 12,000 per month, while Ayush gets ¥ 15,000 per month as he is a
relative of marketing head.

(iv) Divakar, a production incharge, expects that his subordinate produce instant results,
without giving him sufficient time to settle in the new environment.

8.

2. Nitish was working in Apex Ltd', a company manufacturing air conditioners. He
noticed that the profits has started declining from the last eight months. As profit is
directly related to the survival of the firm, so he analysed the business environment to

find out the reasons for such decline. ,
(i) Identify the Jevel of management at which Nitish was working.

(ii) State three other functions being performed by Nitish.

30. Aarti, a Chief Manager in a company using highly sophisticated machines and
equipments- wants that every employee should be completely trained before using the

machines and equipment.
() Sugges: the best suitable method of training which Aarti can use for training the

(i) Also, mention any two benefits of training.
trolling is a systematic process which includes a series of steps. Explain the first four

Con ; .
Qi steps involved in the controlling process.
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SECTION D : Long Answer Type Questions (6 Marks) 5.

31. What do You understand by the term ‘price’ as an element of marketing mix? Alse, 44

describe any four factors that affect the price determination of a product. 15
32. "External sources are the means of recruitment from outside the organisation, as aj) 16
Ppositions cannot be filled from within the organisation." In the light of this statement, 47
explain any six external sources of recruitment. 18-
33. Samartkon Printers Ltd is planning to raise funds of  80,00,000 for its new PrOjGCt, 19
The management is considering the following mix of equity and debt to raise this 20
amount. 7
Alternative [—Equity ¥ 80,00,000, Debt — 0
Alternative II—Equity  60,00,000, Debt — g 20,00,000
Alternative III—Equity ¥ 20,00,000, Debt —  60,00,000
Other details are as follows
(a) Interest rate on debt @ 9%. 27
(b) Face value of equity shares is ¥ 100 each.
(c) Tax rate @ 30%. ‘
(d) Earning Before Interest and Tax (EBIT) is ¥ 16,00,000. .
(i) Which of the three alternatives will be beneficial for a company?
(ii) Does Earning Per Share always rise with increase in debt?
Or
“Financial market plays an important role in the allocation of scarce resources inan ,

economy.” Comment.

34. Consumer products are classified on number of different basis. Or}e of them is
‘durability of the product’. Explain any three types of products under this category.

Or “A consumer should fulfil the number of responsibilities, while purchgsing, usipg and
consuming goods and services." In the light of this statement, mention any six such

responsibilities.

) ANSWERS

1. (d) All of these (13
2. (c) Planning D)
3. (a) Social environment ©)
4. (d) mix of centralisation and decentralisation ‘\?
5. (a) delegate \%
6. (c) Directing a
7. (c) Fatigue study technique 2}\
8. (c) Single chain v
9. (c) Share certificate 2
10. (a) Coordination ;
0

11. (b) cause and effect felationship
Or (a) Organisational objective

e
w
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